Tanums

BK

Partavling 2021-10-11

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poéng % Namn MID Klubb
1 10 154 64.17 Tommy Svensson - Bo Hedén 7520 7553 Hunnebostrand-Kungshamns BK - Uddevalla BF
2 2 140 58.33 Agneta Johansson - Kerstin Olsén 41908 50627 Stromstads BK
3 7 139 57.92 Sune Gustafsson - Rose-Marie Antonsson 88664 88657 Stromstads BK
4 12 130 54.17 Stefan Hansson - Jarl Hallberg 2761 1648 Hunnebostrand-Kungshamns BK - Skdvde BA
5 9 125 52.08 Johnny Holmen - Rolf Kjaerstad 67748 59674 Stromstads BK
6 4 124  51.67 Gerd Lysell - Frank Andersson 88654 91300 Stromstads BK
7 1 114  47.50 Karl Andersson - Rolf Forsgren 7543 13628 Tanums BK
8 5 107 44.58 Mona Andersson - Lars Johansson 7542 50647 Tanums BK
9 3 106 44.17 Eva Andersson - Thomas Christianson 16716 64222 Hunnebostrand-Kungshamns BK - Tanums BK
9 6 106  44.17 Anders Stahlbom - Birgitta Paulsson 64423 7547 Tanums BK
11 11 99 41.25 Bo Stensby - Arne Ivarsson 30119 14092 Tanums BK
12 8 96 40.00 Erik Fredriksson - Ronnie Brorsson 7561 78207 Stromstads BK
1 4 K3 Basta kontrakt 2 4963 Basta kontrakt 3 4 Kn987 Basta kontrakt
Nord v K7 64 N =920 Ost v Kn93 2NT S =120 Syd vD4 34 S =110
Ingen + D743 NS + Kn43 ov + EKn2
#E10873 & ¢ v & NT #EKKn4 & ¢ v & NT #D1092 & ¢ v & NT
4 DKn85 109764 N 128 9 6 11 4E104 &KKn52 N78877 « EK4 41062 N857 87
vD8643 v92 S 128 9 6 11 v 86 v K105 S78878 vKKn109 v853 S967 87
+Kn92 ¢ E1086 013362 +KD75 462 065465 ¢ KD108 7643 047655
«D 294 V13362 #10987 #6532 V6436414 *K4 #875 V478655
s E2 « D87 D53
v EKn105 vED742 vE762
+ K5 + E1098 +95
#KKn652 &D #EKn63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 5 3NN+3 46 490 100 0.0 2 11 4v S= T 620 80 20| 9 1 2NV-2 a9 200 10.0 0.0
2 11 3NS+2 3 460 50 50| 4 3 4vS= +Q 620 80 20| 2 11 INV-1 a8 100 70 3.0
4 3 3NS+2 45 460 50 50| 7 12 4v S= &T 620 80 20| 8 6 2vV-1 &T 100 70 30
7 12 3NS+2 ¢3 460 50 50| 8 6 2vS+2 5 170 40 6.0 7 12 34S-1 4A -50 40 6.0
9 1 3NN+2 oT 460 50 50(10 5 2vS= &T 110 20 80| 4 3 1le V+1l a7 -90 20 80
8 6 3NS+1 &5 430 0.0 100 9 1 4vS-1 &T -100 0.0 100(10 5 1vDV= &2 -160 0.0 10.0
4 4« E9873 Bésta kontrakt 5 4108 Bésta kontrakt 6 & K2 Bésta kontrakt
Vast v54 4y V =-620 Nord v EKn9 24 O =-110 Ost v 962 34 O =-140
Alla 4965 NS + E109 ov + Kn1092
#Kn93 & ¢ v & NT #E10932 & ¢ v & NT #9852 & ¢ v & NT
46 4 KDKn10 N7 3153 4 E9743 4DKn2 N7 6844 4 EKN7 4 D9654 N58 445
vDKn973 v EK86 S73153 v43 v K105 S 75854 vKnl03 vK874 S 58445
¢ E10743 ¢ KDKn O 6 10108 6 4632 ¢ KDKn4 06 7 486 +D863 ¢- 085896
«D5 *82 V 6 10108 6 #Kn87 #D65 V67486 #KKn3 #E764 V85896
& 542 & K65 41083
v 102 v D8762 v ED5
¢ 82 + 875 + EK754
#EK10764 *K4 «D10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 12 44 V-2 v4 200 100 0.0({10 6 2v S+1 &7 140 100 0.0 3 11 INS= +3 90 9.0 1.0
5 4 4v V= 4 A -620 70 30 9 2 1vS+1 43 110 80 20(10 6 INS= +3 90 9.0 1.0
10 6 4vO= *A -620 70 30| 1 7 24V-1 a8 50 50 50| 5 4 3¢ S-2 aA -100 6.0 4.0
1 7 49y 0+1 &A -650 30 70| 5 4 3a4V-1 ©vA 50 50 50| 9 2 2aV= *J -110 40 6.0
3 11 4v O+1 &K -650 30 70| 3 11 34 V= 48 -140 10 90| 1 7 340= ¢A -140 1.0 9.0
9 2 4v V+2 aA -680 0.0 100 8 12 34 V= vJ -140 10 90| 8 12 34 0= +K -140 10 9.0
7 & Kn53 Bésta kontrakt 8 & EKn96 Bésta kontrakt 9 4632 Bésta kontrakt
Syd v 107542 34 V =-140 Vast vKD 3¢ ND-1-100 Nord v10 5NT O =-660
Alla ¢+ Knl104 Ingen + Kn10964 ov + 107653
»82 & ¢ v & NT #Kn2 & ¢ v & NT #8762 & ¢ v & NT
« EK864 #1092 N657 45 4 KD874 410 N2 8856 « E7 4« KDKn54 N55222
vE83 v 96 S6 5745 vKn10 v 764 S 28856 vK843 vD972 S55222
¢E73 + D982 0786 9 8 +38 ¢ EK73 095476 ¢ EK42 ¢Kn8 O 8 8 111011
K10 #D975 V78698 #107653 &#EKD84 V95476 #1054 &ED vV 7 8 11109
D7 4532 41098
v KDKn v E98532 v EKn65
+ K65 + D52 +D9
#EKN643 *9 #KKn93
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 3 INS= oK 90 100 0.0 2 8 3#0+1 ¢Q -130 90 10| 2 8 4v 0= LX) -620 9.0 10
6 5 24 V+l &8 -140 70 30| 6 5 440= vA -130 90 10(10 7 4v0O= +Q -620 9.0 1.0
10 7 24 V+1l &2 -140 70 30(10 7 340+2 2 -150 50 50| 9 3 3NO+1 T -630 6.0 4.0
1 12 24 V+2 &8 -170 30 7011 4 440+1 +Q -150 50 50| 1 12 44 O+1 T -650 30 7.0
2 8 24V+2 &8 -170 30 70| 9 3 5vDS-2 4Q -300 20 80(11 4 49 O+1 +¢Q -650 30 70
11 4 3¢ N-4 o7 -400 0.0 100| 1 12 540= +6 -400 0.0 100 6 5 3NV+2 3 -660 0.0 10.0
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10 465 Basta kontrakt 11 4 K4 Basta kontrakt 12 4 KD642 Basta kontrakt
Ost v EKD10973 5NT S =660 Syd v K10632 3NT S =400 Vast v D54 6¢ V =-920
Alla *4 Ingen + 642 NS 7
#EK9 & ¢ v & NT *K75 & ¢ v & NT #10975 & ¢ v & NT
& K7 « DKn842 N7 8 118 11 4 Kn953 410 N7 7999 4E109 43 N51282
v6 v54 S 7 8 118 11 vE54 v 987 S77999 vK63  vEKn982 S51282
4987653 ¢ E10 065141 ¢ K95 ¢ EKn73 06 5343 ¢ ED93 ¢ KKn64 O 7 12115 10
#DKn43 #8752 V55141 #943 #D10862 V65343 #842  #KD6 vV 7 12115 10
« E1093 « ED8762 & Kn875
v Kn82 v DKn v 107
¢ KDKn2 + D108 410852
+106 #EKn #EKn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 8 6Yy N= v2 1430 90 10| 7 6 44 S= vA 420 80 20| 7 6 5¢V-1 4Q 50 9.0 1.0
12 2 6y N= ¢A 1430 90 10| 9 4 44 S-= vA 420 80 20|11 5 5¢V-1 &K 50 9.0 1.0
7 6 5v N+1 &8 680 40 6.0[11 5 44 S= vA 420 80 20| 3 1 4v 0= 8 -420 40 6.0
9 4 4vy N+2 +A 680 40 6.0| 3 1 24S+1 #4 140 30 70 9 4 4v 0= 48 -420 40 6.0
11 5 4v N+2 ¢A 680 40 6.0|{10 8 24 S+1 ©vA 140 30 70(10 8 4v0O= a7 -420 40 6.0
3 1 4y N+l #4 650 0.0 100(12 2 44 S-1 49 -50 0.0 100(12 2 4vO+1 5 -450 0.0 10.0
13 4 E1084 Basta kontrakt 14 4 DKn3 Basta kontrakt 15 4 DKn106 Basta kontrakt
Nord v K95 4% N =130 Ost v K82 34 O =-140 Syd v63 6¢ V D -3500
Alla + D74 Ingen + 1085 NS + 84
#E54 & ¢ v & NT #EK95 & ¢ v & NT #EK862 & ¢ v & NT
4 K765 4Kn932 N 108 6 6 8 4642 « EK1087 N7 6 444 a4 & K93 N9 3 3 116
vD1086 v7432 S 108 6 6 8 vEKn107 943 S76 444 vK8 vEDKn9542 S 9 3 3 116
¢ Kn8 ¢ EK62 0357765 ¢ K432 + D9 06 79 9 8 ¢+ KDKn9753 ¢ 102 029922
K107 &8 V35775 &Kn7 D103 V67897 #Kn75 &D V29922
aD 495 « E8752
v EKn v D65 v 107
410953 ¢ EKn76 + E6
#DKn9632 #8642 #10943
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 2 26 N+2 <A 130 80 20| 8 7 44S-2 44 -100 10.0 0.0 9 5 4v O-1 &A 50 10.0 0.0
11 6 24 N+2 ¢A 130 80 20| 1 10 24 0= *2 -110 40 6.0 4 2 2v0+2 &9 -170 70 3.0
12 3 3« N+1 ¢A 130 80 20| 4 2 140+1 6 -110 40 6.0|11 6 3vO+1 <A -170 70 3.0
8 7 24 N+1 +¢K 110 30 70 9 5 240= &8 -110 40 6.0 1 10 4vO= *2 -420 20 8.0
9 5 3&N-= ¢ A 110 30 70(11 6 24 0= &8 -110 40 6.0 8 7 4vO0O= *9 -420 20 8.0
1 10 4 N-1 +A -100 0.0 100(12 3 24 0= &4 -110 40 6.0|12 3 4v0O= s A -420 20 8.0
16 4 E6 Bésta kontrakt 17 &« KKn10 Bésta kontrakt 18 + D64 Bésta kontrakt
Vast v D62 5NT N =460 Nord v Kn10542 6¢ O =-920 Ost v KKn6 4v O =-420
oV + K543 Ingen +5 NS + K96
#E1052 & ¢ v & NT #K953 & ¢ v & NT #KKn82 & ¢ v & NT
& Kn7 41098432 N 119 109 11 4 E9652 4743 N6 1422 4 K10 483 N4 3373
v10953 vK8 S 119 109 11 v- v EKD73 S71424 v 743 vED1082 S43373
¢+ E10987 ¢ 62 024342 ¢ EDKn32 ¢ 10976 O 6 128 118 ¢ EKn54 ¢ D102 09 9 106 8
*K6 #Kn73 V24342 #ED6 «10 V 6 128 1110 #D1095 &E64 V 9 9 106 8
4 KD5 D8 & EKn9752
v EKn74 v 986 v 95
¢ DKn + K84 4873
»D984 #Kn8742 »73
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
7 11 3NS+2 & 460 80 20| 1 8 3¢0+2 +8 -150 10.0 0.0 7 11 4v O-2 &3 100 10.0 0.0
9 6 3NN+2 oT 460 80 20| 2 10 5¢ O+1 8 -420 70 30 1 8 3vO-1 &7 50 80 20
12 4 3NN+2 49 460 80 20| 7 11 44 V= +5 -420 70 30| 2 10 2vO= &7 -110 6.0 4.0
1 8 3NN+1 49 430 20 80| 5 3 44V+1l 45 -450 20 80| 9 6 2vO+1 &A -140 40 6.0
2 10 3NN+1 &T 430 20 80 9 6 4e4V+1l vJ -450 20 80|12 4 3vO+1 9 -170 20 8.0
5 3 3NN+1 49 430 20 80(12 4 44 V+1 v -450 20 80| 5 3 4v 0= & A -420 0.0 10.0
19 a4 Bésta kontrakt 20 « ED7 Bésta kontrakt 21 4983 Bésta kontrakt
Syd v 1043 54 V =-650 Vast v 8642 44 N =130 Nord v E9876 3NT O =-400
oV + 1076 Alla ¢+ ED2 NS *75
#1087542 & ¢ v & NT #Kn63 & ¢ v & NT #1043 & ¢ v & NT
«KD765 &Kn1098 N6 3826 4532 410964 N 108 8 8 8 «K52 4D76 N4556 4
v8 v 762 S6 3826 vK973 vDKnl10 S 108 8 8 8 vDKn5 vK103 S4556 4
¢ 984 ¢ EKKn52 07 9 4 116 +K96 #8753 034545 ¢ K986 ¢ E104 088779
#EK93 %6 V79 4 116 #E107 #D2 V34545 D62 #E975 V88778
~ E32 » KKn8 » EKn104
v EKDKn95 vE5 v42
+D3 + Knl104 + DKn32
#DKn #K9854 #KKn8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 5 5v S= &A 450 100 00| 6 4 INS+3 a5 180 100 0.0|12 5 2NV-1 49 50 10.0 0.0
8 11 5vS-3 &K -150 80 20| 8 11 24 N+2 vQ 130 80 20| 2 1 INO+1 &4 -120 50 5.0
2 1 24V+2 vT -170 50 50 2 1 2#N+1 vQ 110 50 50 6 4 INV+1 7 -120 50 5.0
6 4 34V+l w4 -170 50 50| 3 10 3#N= vQ 110 50 50| 8 11 2NV= v7 -120 50 5.0
3 10 44 V= v4 -620 10 90| 9 7 3NS-1 v3 -100 10 90| 9 7 2NO= L -120 50 5.0
9 7 44 V= v3 -620 10 90|12 5 3NS-1 v3 -100 10 90| 3 10 INV+2 7 -150 0.0 10.0

Tanums BK, Partavling 2021-10-11, sida 2 av 3




22 4983 Basta kontrakt 23 4 KD10 Basta kontrakt 24 410942 Basta kontrakt
Ost v K754 2% O =-90 Syd v KDKn105 4v S =620 Vast v K5 3# ND-1-100
ov 752 Alla 4984 Ingen + D862
&EKnN9 & ¢ v & NT D6 & ¢ v & NT #1082 & ¢ v & NT
« D102 s E7 N56 6 7 6 4 Kn8653 & E942 N 106 105 7 « EK7 « D853 N8 7 46 6
vDKn109 v82 S56676 v 942 v 86 S 106 105 7 vEKn1073 v D64 S87 466
¢ Knl03 ¢ EK96 087767 ¢+ EKn5 + D10632 oO17171 ¢ Kn ¢ K9743 O56 876
&#KD4 #108652 V777517 74 103 vi1iv7171 &#Kn964 &3 V56876
& KKn654 a7 & Kn6
v E63 vE73 v 982
+ D84 * K7 + E105
»73 #EKKn9852 &#EKD75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 8 24V-1 a9 100 1000 0.0 1 11 3NN+4 a2 720 100 00| 9 8 3vV-1 &3 50 10.0 0.0
1 11 Pass 50 50| 6 12 4vy N= *2 620 6.0 40| 4 10 34DS-1 &A -100 80 20
3 2 Pass 50 50| 7 5 4y N= s A 620 60 40| 1 11 1vV+1l a2 -110 50 5.0
4 10 Pass 50 50| 9 8 4vy N= s A 620 60 40| 3 2 2vV= a9 -110 50 5.0
6 12 Pass 50 50| 3 2 6¥yN-2 s A -200 1.0 90| 7 5 2¢vV+1l &T -140 20 8.0
7 5 34S-1 &K -50 0.0 100| 4 10 3NS-2 a3 -200 1.0 90| 6 12 4v V= T -420 0.0 10.0
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